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if (rule2) {
ApplyRule2 ();

}

//)L—IL3DEH

if (rule3) {
ApplyRule3 ();

}
ApplyRules()

BoidRuleManager rule;

rule.SetBoid(thi
rule.ApplyRule();

Update()
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private void ApplyRule2() |2)31%cH3REc2EAVWTRETZHAICEEEBELET .

{ i BEDRA FOfiiB%iposé T 3.
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Vector3 ipos = boid[i].pos; | ineighbor_space&d 3.
float ineighbor_space = boid[i].neighbor_space;
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Vector3 jpos = boid[j].pos; BZiPosET 5. RLRiERIRjD
float dis = Vector3.Distance(ipos,jpos); | iEs% dis& 9 3.
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private voic ApplyRu1e3()
{

for(int i=0;i<pop;i++ i %H DRA ROMIE « EFE - tR5EEEHE

Vector3 ipos = boid[i].pos; ) ) ..
Vector3 ivel = boid[i].vel: | ZiPOs,ivel, ivision_space& 9 %.

float ivision_space = boid[i].vision_space;

Vector3 velSum = Vector3.zero; - —
velSum: tRERR A FDZEEREF

for(int j=0;j<pop;j++){ —
Vector3 jpos = boid[j].pos; | JIBEBHDKRA Fodii

Vector3 jvel = boid[jl.vel; | E#kjpos& T 3.
float d = Vector3.Distance(ipos,jpos);
diCET 2FHEDBAVET,

count, velSum|{cx}d
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boid[i].SetVelocity (N
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